VEERR

iL
EE
S
&
8

A10330 | CLIZ/SVF

S EHREHRE A OIREXIL/N R

LA

P

-—D

E¥
f

BEMICLEBERD
| BERBELHIETD
TIREBLLEE L,

HED
il 0]

@EXENRD > X LT
@m&EI— KN A10330 CLIZ/N\»F BT (mm)
FAZ | & T |FOR | rris P A
Sl= [ (A) (B) JEI:I Eyi'fé t (¢} ﬁxﬁé D P F (ﬂﬂ)
0014 15A Y2 25.7 20| 25 | M 6%X20 | 45 | 20 6 230
0029 20A %4 31.2 20 | 25 M 6x20 | 45 | 20 6 200
0033 25A 1 37.6 20 25 | M 6%x20 | 45 | 20 6 180
0048 32A 1% 46.3 20 | 25 M 6Xx20 | 45 | 20 6 150
0052 40A 1% 52.2 20 | 25 M 6Xx20 | 45 | 20 6 130
0067 50A 2 64.1 20 | 25 M 6x20 | 45 | 20 6 150
0071 65A 2 79.9 23 | 25 M 6x20 | 45 | 20 6 150
0086 80A 3 92.7 23125 | M6%X20 | 45 | 20 6 130
0103 100A 4 118.3 23 | 25 M 6x20 | 45 | 20 6 100
0118 125A 5 143.8 32 | 32 M10Xx30 | 55 | 27 8
0122 150A 6 170.2 32| 32 M10x30 | 55 | 27 8
0137 200A 8 221.3 32| 32 | M10X30 | 60 | 27 8
- = X, I
A10351 | A7~ CLIZ/SVK
SHEHERERDOBEERXIL/N KN,
@SUS3048,
@mBEI—KN A10351 RFCLI/NVK B 457 (mm)
YAX | & B | HORE | r s TSI A
014 | 1584 | % 257 | 20| 25 | M 6x20 | 45 | 20 | 6 | 230
0029 20A % 31.2 20 | 25 M 6Xx20 | 45 | 20 6 200
0033 25A 1 37.6 20 | 25 | M 6X20 | 45 | 20 6 180
0048 32A 1% 46.3 20 | 25 M 6Xx20 | 45 | 20 6 150
0052 40A 1% 52.2 20 | 25 M 6Xx20 | 45 | 20 6 130
0067 50A 2 64.1 20 | 25 M 6x20 | 45 | 20 6 150
0071 65A 2 79.9 20 | 25 M 6Xx20 | 45 | 20 6 150
0086 80A 3 92.7 20 | 25 | M 6X20 | 45 | 20 6 130
0103 100A 4 118.3 20 | 25 | M 6X20 | 45 | 20 6 100
0118 125A 5 143.8 30| 32 | M10x35 | 55 | 27 8
0122 150A 6 170.2 30| 32 | M10x35 | 55 | 27 8
0137 200A 8 221.3 30| 32 | M10x35 | 60 | 27 8

rngm

i
i

BERICLVERERY
REZHBELHIETD
TR,

H@o
Oaflak 223N

78




